HERBLEAPETHREUHRESR

HEFIEE SRR
(8) %% 5% 48 18

ERNXEHEE

(&) &% 64 3A31IH

F-SEMERX  (BHEEEMRERER

(BifE - M)
BE R B FHE®O REB) ZEW-B) %

R EIEEEIIN 4,800, 000 4,140, 000 660, 000
f_ A RETH B RS NA 4,800, 000 4,140, 000 660, 000
& RESRRZIEL V2 —2HRERA 4,800, 000 4,140, 000 660, 000
1= Z DHDIRA 1,000 0 1,000
2 A 1,000 0 1,000
g ELFEHIRAG (D) 4,801,000 4,140, 000 661, 000
¥ | X [ ABBXH 2,853,000 2,759, 621 93,379
® | maenxm 1,870, 000 1,798,812 71,188
BEESXH 591, 000 569, 123 21,877
EEBHEXH 392, 000 391, 686 314
EEEXH 760, 000 187,717 572, 283
EERERRARH 37,000 36, 355 645
RIEH X 3,000 2,160 840
X 38, 000 37, 860 140
HEEXH 88, 000 33,342 54, 658
s 594, 000 78, 000 516, 000
EBRBEXH 951, 000 780, 277 170,723
BREABIH 20, 000 5,349 14, 651
REXBRXH 1,000 0 1,000
BHERI R B X H 2,000 0 2,000
EHHERERH 66, 000 3,907 62,093
ENRIBLAE 229, 000 227, 951 1,049
BIEEREXH 121, 000 52,283 68,717
SHBAXTH 8, 000 0 8, 000
EBEREXH 1,000 0 1,000
FHHZH 39, 000 37,210 1,790
RIH X 33,000 29, 680 3,320
X 239, 000 233,782 5 218
ARARXH 191, 000 190, 115 885
HXH 1,000 0 1,000
EARL, ERBRUSBERIHE 1,000 0 1,000
EZEHIHEQ 4,565, 000 3,727,615 837, 385
EEEHERRZEEOQ)=(N-) 236, 000 412, 385 A 176,385
55 [BA EREHZRAG @) 0 0 0
;“2 i mRERBEXHEG) 0 0 0
= M EHREESINZEL (6)=(4)-5) 0 0 0
EXIENEETE L T ETLON 900, 000 0 900, 000
@ A ZOHDFEBIRAG (1) 900, 000 0 900, 000
o| X [BusExH 45, 000 39, 396 5,604
E| M [ EmensngERs 45, 000 39, 396 5,604
?{J EERSBERASTH 700, 000 0 700, 000
£ ZOMOEBICL HXH 191, 000 171, 444 19, 556
% ZDHDEBZHE (8) 936, 000 210, 840 725, 160
”1 ZOMDEHERNZEE9)=(1-O) A 36,000 A 210, 840 174, 840
FREXHE 0) 200, 000 0 200, 000
LHRESREEREH (11)=C)+®)+©)-(10) 0 201,545 A 201,545
BRI ELREE (12) 368, 000] 368, 755] A 755]
LEKXIEEES (11)+(12) 368, 000] 570, 300] A 202, 300]




